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4. A mass m = 0.10 kg is in uniform circular motion, radius R = 1.0 m and angular speed
w; = 5.0 rad/s, on a horizontal air table (no friction). It can do this because it is attached to
a string that passes through a hole in the table located in the middle of the circular path

and to which a mass M is attached below the table, hanging from the end of the string

A. (5 pts) What is the value of M? HM5»7 s P A s iom o -d_'
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B. (5 pts) A swmall additional wwss AM is odded to M, and these masses 'drop o disfence h
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25 (1.02) = 5.1 had/s
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